
4
43114

10

12

13
11

2

988

3

5

5

44

3 716

13

34.744 MEASURMENT
DOUBLE WALL FRAME

REVISIONS
REV. DESCRIPTION DATE APPROVED

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 10030734 WELDMENT - 34.75" FRAME - MEDIUM DUTY TOP FRAME 1
2 10004202 WELDMENT - MEDIUM DUTY SWING ARM 1
3 10031554 ASSEMBLY - SLIDE SHACKLE W/ HARDWARE 2
4 10984 PLATE - 3/8" - SHACKLE 4
5 10004203 PLATE - 3/8" - 3.00" OD X .89" ID - SPACER BUSHING 4
6 10003895 BUSHING - ID .885" (7/8" BOLT) OD 1.5" LENGTH 3.27" 4
7 80254 PURCHASED PARTS - POLYURETHANE BUSHING 8
8 10031599 CONTINENTAL AIR BAG - 64260 2
9 80013 90° ELBOW 1/4" DOT TUBE PUSH-TO-CONNECT X 1/4"-18 MNPT 2

10 13126 TOP DISTORTED THREAD LOCK NUT - 5/8"-18 - GR8 - YZ 1
11 13130 TOP DISTORTED THREAD LOCK NUT - 7/8"-14 - GR8 - YZ 4
12 13026 FLAT WASHER SAE - 5/8" - GR8 - YZ 4
13 13030 FLAT WASHER SAE - 7/8" - GR8 - YZ 8
14 12409 HEX BOLT - 5/8"-18 X 2" - GR8 - YZ 2
15 12633 HEX BOLT - 7/8"-14 X 5-1/2" - GR8 - YZ 2
16 12641 HEX BOLT - 7/8"-14 X 6-1/2" - GR8 - YZ 2

Friday, February 21, 2025 8:43:54 AM 10034777

2/21/2025

A

PART NUMBER:

PROJECT:

DESCRIPTION:

DATE:DESIGN BY:

PROJECTION
3RD ANGLE 

2024+ F650-750 Chassis Cab - Double Wall Frame - 
No Shocks/Factory Shocks

Approximate Weight =

NOTICE: THIS DOCUMENT AND ITS
CONTENTS ARE THE PROPERTY

OF KELDERMAN MFG.
NO USE OR COPIES

MAY BE MADE WITHOUT WRITTEN
PERMISSION FROM KELDERMAN

UNLESS
OTHERWISE SPEC.
DIMNS. IN INCHES

MATL SPECS: See Prints

10034777

DO NOT SCALE DRAWING

2-Stage Rear - General Medium Duty

840.33 lbs

STD. TOLERANCES
X.X .060

X.XX .010
X.XXX .005

FRAC.DIM. 1/32"
Deg.  .5° SHEET 1 OF 2

1:24



A


	Sheet1
	Drawing View11
	Drawing View12

	Sheet2
	Drawing View13
	Detail View A (1 : 10)


